A TR AZH T YHE AR

E4 X5 fitt BFEL YRR (F9)
WHE=E 1 1 iz > & 400
WHE=E 2 1 iz > & 200
&= 2 5] H 1 iz > & 600
WHE= 3 1 iz > & 100
= 1 BffAliC D & 200
RAEREE 1 FEfEIz D & 550
f e e = 1 NZo& 100
D= 1 1 REflz D& 150
B 2 1 REflz D& 200
B3 1 REflz D& 150
i 4 1 REflz D& 100
B4 B bR AER (1)
WHE= 1 1 FFfRIiz S & 100
WHE=E 2 1 FFfRIiz S & 50
WHE = 2 =51 H] 1 iz > & 150
WHE=E 3 1 FEfillc o & 50
FIE= 1 Kl o & 50
RAEEYE 1 Rz > & 100
BHE 1 1 FEfElIC D & 50
B 2 1 REfETIiZ > = 50
R 3 1 REfETIZ > = 50
D 4 1 REfETiZ > = 50

=
I

1 v U—%2FHATHEXE, LREICHOE 100 [HE2#EINT 5,
2 EREHRE TS L XORERHIT, THEHOAGOREE TS,
3 FAHEHAENTANOE (THEATIEFRL,

ERAE

4 FEFARFRIC 1 RFRRIRNG OWmA 2N & 5 & S 1%, £ Dbk H]iT

) T D & & OFEMEFIL, ERD b FIH

&

N 1 H%‘:ﬁfﬁk L"C§+%‘é—éo




